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15. 80% = (1—60%) = 80% + (10—0—

100
_ 80, 40
~ 100 100
_ 80 100
100 40
=2

60
100

17. FEMBFTAE A E 48 = 100% - 71%
= (100 - 71)%

= 29%

‘EE 8C

1. (a) 120 17 40% = 120x40%
=120 X —= 100
=48

(17 H)

= |
w
2

(b) 1% ) 39 = 2

=

X

&~ Rl &
—
(=
(=]

(c) $60 [ 45% = $60 x 45%
= $60 x 15 100
= 27

)
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. AABC = APQR (SSS)

AABC = ADEF (ASA)

A% AABC = ADEF

Ll ZE = 4B
e="175°

ADEF = ARQP (ASA)

AWOX = AZOY (SAS)

AABD = ANACD (AAS)

K% AABC = ADEF ,

Fir LA EF =BC

DF =AC
e=6

DE = AB
=1

AABD = ACDB (SSS)
.. ZABD = ZCBD
a =30°

ZADB = ZCBD
b=61°

HA AABC = AXYZ |, FifLL
(a) 2Y = 2B =120°

(b) £ZX = ZA = 40°

(c) £ AXYZ ',
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40° +120° + £Z = 180°
160° + £Z = 180°
160° + £Z - 160° = 180° - 160°
Z7Z = 20°
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3. AAA

5. AABC ~ AXYZ ( =% 1, )

7. £ AABC 1,

ZA+ /B + 2C = 180°
ZA +60° +28° = 180°
ZA +88° = 180°
ZA +88° - 88° = 180° - 88°
ZA = 92°
K% AABC ~ APQR,
Frbh 2ZP=2zA
x =92°

9. A% AABC ~ ADEF ,
7 N ACY_BC
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2d = 12
2d _ 12
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d=6

11. ARST ~ AZXY (=#n{HL6)
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EF ~ DE
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g% 10A (5758 9. (a) 74°+ (4a -14°) = 180°

74° + 4a - 14° = 180°
4a +60° = 180°

1 77° + a = 180° 4a + 60° -60° = 180° - 60°

77°+a-"T7° = 180°-177° 4a = 120°
4a _ 120°

a =103° =

a = 30°

3. a+3a+a=180°
(b) £BOC =2a +7°

5a = 180°
5a _ 180° =2x30°+7°
55 =60°+7°
a = 36° =67°
ZCOD =97°-a
5. 138° + 2p = 180° =97°_30°
138° + 2p — 138° = 180° — 138° — 67°
2p = 42° =
222 = 43 (¢) (i) -~ £BOC = £COD = 67°
p=21° . &, OC¥4 £BOD .
(p +4°) +q = 180° (ii) ZAOD = ZAOB + ZBOC + £COD
(21°+4°) +¢ = 180° =T4°+67°+67°
25° +q = 180° = 208°
25° +¢ - 25° = 180° - 25° # 180°
q = 155° o &, AOD ARE—REEE.
7. m+3m+(bm-18°) = 180°
m+3m+5m—-18° = 180°
9m — 18° = 180° g iEEE .'OB (3878 H)
9m — 18° + 18° = 180° + 18°
9m = 198° 1. p +135° = 360°
9m _ 198° p +135°-135° = 360° - 135°
o9 p = 225°
m = 22° —_—
3m+m+n = 180° 3. 8p = 360°
4m +n = 180° 8p _ 360°
4x22°+n =180° 8 8
88°+n = 180° p = 45°
88° +n — 88° = 180° — 88°
n = 92°

5. (50°+x)+ 10x +(100° —x) + (7x-11°) = 360°
50° +x + 10x + 100° —x + 7Tx — 11° = 360°

17x + 139° = 360°
17x + 139° - 139° = 360° — 139°
17x = 221°
172 _221°
17 17
x =13°
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7. (a) a+2a+3a+240° = 360°

6a +240° = 360°

6a +240° - 240° = 360° - 240°

6a = 120°
6a _ 120°

6 6
a =20°

(b) 2 fi QOR = 360° - 2a

=360°-2x20°
= 360° -40°
= 320°

9. X ffi XOY = 360° - (y - 110°)

14 % X (470° - y) = 14X X (y - 110°)

= 360°-y +110°
= 470°-y

,ll,x(470°—y) = %x(y—llO")

2x(470°-y) = Tx(y-110°)
940° -2y = Ty - 770°

940° - 2y + 2y = Ty - 770° + 2y

940° = 9y - 770°

940° + 770° = 9y - 770° + 770°

1710° = 9y
9y = 1710°
1710°
9

y = 190°

9 _
S =

EHRE 10C 2838

1. a =108°

b=

72°

3. x=90°+50°
= 140°

x+y=180°
140°+y = 180°

140° + y — 140° = 180° — 140°

y =40°

5. ZAOF = ZEOB

=4x

3x +4x +75° = 180°
Tx +75° = 180°

Tx +75°-75° = 180° - 75°

7x = 105°
7x _ 105°
71
x = 15°

7. ZQOT = 64°

Z0SQ + 89° = 180°

Z0SQ +89°-89° = 180° -

Z08Q = 91°
% A0SQ AIi5

Z0QS + ZQO0T + £0SQ = 180°
m+64°+91° = 180°

m + 155° = 180°

m + 155° - 155° = 180°

89°

m = 25°

9. LZAOJ = 3«x
ZFOD =x-17°

ZCOH = 10£FOD

. 40° +3x +30° = 10(x -

7°)

3x+70° = 10x - 70°
3x+70°—-3x = 10x - 70° - 3x
70° = 7x -170°
70°+70° = Tx - 70° + 70°

140° = Tx
Tx = 140°
7x _ 140°

7 7
x = 20°

=HEE 10D (97

1. a = 82°
3. m + 108° = 180°
m + 108° - 108° = 180° - 108°
m ="72°
5. ZBCD = 35°

ZBCE + ZCED = 180°
(35°+25°) +e = 180°
60° +e = 180°

60° +e—-60° = 180°-60°

e =120°

- 155°
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7. ZABD + ZBDC = 180°
2x + £BDC = 180°
2x + £ZBDC - 2x = 180° - 2x
ZBDC = 180° - 2x

£ZDCE = ZBDC
= 180°-2x
£4DCE + £CEF = 180°
(180° - 2x) + 80° = 180°
180° - 2x + 80° = 180°
260° - 2x = 180°
260° — 2x + 2x = 180° + 2x
260° = 180° + 2x
260° - 180° = 180° + 2x — 180°
80° = 2x
2x = 80°
2x _ 80°

5= 21.

x = 40°

9. - ZXPB = /XQD = 106°
. AB//CD ([R{ faa%s)

1. - £ZPXY + ZRYX = 85° +95°
= 180°
. PQ /RS ([7]5%R ff H )

13. a+24° = 58°
a+24°-24° = 58° - 24°
a = 34°

b+24°+a = 180°
b +24° + 34° = 180°
b+58° = 180°

b +58°-58° = 180° - 58°
b = 122°

15. ZXYZ =n

n+n +$n = 180°

Tn+Tn+4n - 180°

7
18n _ o
87 - 180

@ x T =180°x 7
18n = 1 260°
18n _ 1260°

18 ~ T 18
n="70°

19.

23.

ARFITLE

a+115° = 180°
a+115°-115° = 180°-115°
a = 65°
a+b+18°+22° = 180°
65°+ b+ 18°+22° = 180°
b +105° = 180°
b+ 105°-105° = 180° - 105°
b ="175°

(a) ZCDQ = 36°
. ZLADS = 36°+70°
= 106°

(b) = ZPCD = ZADS = 106°

&, PQ//RS (§ifaM%) .

(a) ZRDB = ZADS
5a -5° = 4a + 20°
5a-5°-4a = 4a + 20° - 4a
a-5°=20°
a-5°+5°=20°+5°
a = 25°

ZCDS = 4a +20°
=4 x25°+20°
= 100° +20°
= 120°
Bl £CDS = £ACQ = 120°
&, PQIRS ([F{i ) .

(b)

ZQ+ ZR = 133° +47°

= 180°
. PQ /SR (755X H.4H)
ZP+ ZQ =57°+133°

= 190°

# 180°
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/PQR = 360° — 228° /FEG+b+c = 180°
= 132° /FEG+b+c—b-c=180°-b-c
ZRST = 360° - 235° /FEG = 180°-b—c
= 125° /BED = /FEG
ZQRY = 132°  180°% =B mCoeee e i
/SRY = 125° BEH - o
= 132°+125° /BED = /BEH + /DEH
= 257° e e A

# ) A (i) . ATie
180°-b-c=a+d
180°-b-c+b+c=a+d+b+c

180° =a+d+b+c
a+b+c+d=180°

27.

## FGDE I/ AB .

ZFGB + ZABG = 180°
ZFGB + 104° = 180°
ZFGB +104° - 104° = 180° - 104°

ZFGB = 76°
. £ZCGD = LFGB
=176°
ZCDF = 237°-180°

=57°

£DCG + £CGD + £CDG = 180°

p+76°+57° =180°

p+133° = 180°

p+133°-133° = 180° - 133°
p =47°
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3. (a) A(2,3) MxEER 2, ‘ 2
(b) B(-4,5) AYx AR -4
() C(0,1) W xBIER 0 .

5. x il FAT R P B A AL R AR (-1, 0) .
(0,0). (1,0). (2,0) . P(-3,-5)
EME y BERO .,

(b) PQ F1 RS W fi & Bt (9 3¢ B A9 A #7 &E
7- (a) (0’1)0

ERE NB (£1188)

1. AB =[2-(-1)] ¥{7 = 3 ¥

=

CD =[4-(-2)] ¥{; =6 H{

PQ =(2-(-3)] ¥f{i =5 H(I

(b} 2C8B =25 RS = [4-(-1)] ¥fir =5 H{i
9. (a) 3. CD = (6-2) B{% =4 ¥

5. GH = [-2-(-4)] B{ = 2 ¥{

7. AB=[45-(-1.5)] ¥ =6 H{

9. PQ =[3-(-3)] ¥fi =6 H¥fI

1. - PQ = 6 H#Ai
. (2kR+3)-k =6
2k +3-k =6
k+3=6
— T k+3-3=6-3
! : k=3

(b) AR N
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D MHE = (3-4,3)
=(_1’3)

HEEE NC (#1228)

1. R#77¥ ABCD Wifi# = AB xAD
= (4x3) FHEAL

=12 ‘FHEAN
3. y
A
4 K
}
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3 !
|
|
2 l
I
L
i
L N M
T | T T T T
0 1 2 3 4 5 6
BT A RC SR dn i

AKLM W = éxLMxKN
= (3x5x3) FHHL
=175 FHEA

5. APQR MTEH = 1 x QR x PQ
= (3x4x3) ForE(n
=6 TN

7. (a) AB = (6-4) Hfi
=2 B

(b) D H#IBHER (3,0).

|
}9.
|

(¢) CD = (5-0) HAi

=5 B

(d) AABC HYTERE = 3 x ABx CD
- (%xzxs) - # Ao
=5 FHEN

D(0,3)

JIT FH e S A f]
CD = (5-3) HA{i
=2 B
BD = (4-0) H#A{
=4 H§{

s O FATIOBIE B AR

= CD xBD

= (2x4) FIrHAL
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